o

To

LD TYPE

L FizawiL

HD[3]-[3%) - [EGA] -025 A -
_ 0z5A

&

SR
1. ovos2 RN TY,

2. PRI O KIB 2 K% 3200 F L7z,

3. FEBEDOKIERT v 7HED ) T Lo

4, HD1¥#2(7MPa{70kgf/cm®*} H) 1%, KBTI H T, PC(Furs<
Tharra—3)54 Ly MEITEE T,

B5EE - Bk 2 5 2%, IECHMIPS5TY,

FE TS, T — AT T,

VL /A FaAnNows et (AC) Al I (DC) I o [Xjl A5 —
HTT&Fd,

&L (AC) wweeeee B EPE (DC)Hvveeeees H

8. H—TF T —1F, HUEEEETT,

a

e LD E A AED T /0, RAE—MIVCEIZHAMZ S Tnb &) IoiF
LTS,

@) — ATy FIONLTORSHE, R T = IVEIAAKIEZ 2 B & D AT
TL &0,

® WA 1E. 2L 7] & 1255 (Shoior) 1AL T T 72 &y

ORAFE—MIFEMLTHAT AL AR EBILETOTEEL TSy,

® 77 Y MMHIB VT, VI /A FISHEEETICRERYT 5 841E, HD3 & 1F
[: % 5MPa {50kgf/em?} LLF . HD1JE1x. 2MPa{20kgf/em?} LUFIZ L TS,

HEtgs

meERED
3 : 25MPa{250kgf/cm?}
1 : 7 MPa{70kgf/cm?}

EIHRAE

AW XTUL TR 4T

2W i/ —=RTY LI

2WD: /=2 TN > T FF b
2S 1 RTYLTHA Ty b

FMBEDIELR

e

EFIF 2 IN—

JIRTY - BTRIACAR

BERT
A1 I AC100vV D1 :DCI12Vv
A 2 1AC200V D2 :DC24V
A 3 I AC110V
A 4 I AC220V

103




L Ja:d

{

. 2 HD 3 HD 1
i & fli B IE 1 MPaikgf/em?} 25 {250} 7 {70}
£ % i W L/min 27
ki FL/min 50 40
R K — FEFAEHIE MPalkgf/cm?} 164160} 71 (5 {50) 7470} 31(2{20})
LU 3=y &7 -3 2 L)
IR AP0 ERRBLENE10%
O 1EC52912 & 5IP55 :
i it ( )NIDC kg ATV TRy I /=AT) Y 7B IL9C)VRA TN T F 7€y P 1.5(1.6)
fu H il ISO VG32:(90 % — ¥ »ill) 713 56(140% — & i)
M 15~400 .
oM W 5 ~65
ey & i H)L R JIS B1176 M 5 X45(4 %K)
# # b 2 N-m {kgfm} 6~810.6~0.8}
HLC )P, 2WD 34T, 2 RN, B, FER, AR E DR £,
®@VL /A1 Nt
3ZF. 25MPa{250kg f/cm?}
i Eel ACv VL /4 F (1)
A #; SLH3-025-A1 SLH3-025-A2 SLH3-025-A3 SLH3-025-A4
e oL v AC100V ACI110V AC200V AC220V AC110V AC120V AC220V AC240V
’on . 50/60Hz 60 Hz 50/60Hz 60 Hz 50/60Hz 60 Hz 50/60Hz 60 Hz
| RBER A 2.0/1.8 1.9 1.0/0.9 0.95 1.8/1.6 1.7 0.9/0.8 0.85
Wil BB A | 0.46/0.31 0.39 0.23/0.16 0.20 0.43/0.29 0.36 0.22/0.15 0.18
Mo oW W | 18.5/14.8 19.1 18.5/14.8 19.1 18.5/14.8 19.1 18.5/14.8 19.1
X7 7 MPa{70kgf/cm?}
i $H ACVL /4 F (Bfn)
1 i SLH1-025-A1 SLH1-025-A2
I AC100V AC110V | AC200V AC220V
oy g 2
R EE VO s, 60 Hz 50/60Hz 60 Hz
| REER A 1.8/1.6 1.8 0.85/0.75 0.95
| BEEEW A | 0.36/0.27 0.32 0.18/0.14 0.16
Mo O oW W | 16.4/14.5 17.9 16/13 16.5
BE#%  25MPal250kg f/cn?} E# 7 MPai{70kgf/cn?}
{ - ¥ DCYL /1 F (%) i # DCYUL /4 F (M)
TR , SLH3-025-D1 SLH3-025-D2 B b2 SLH1-025-D1 SLH1-025-D2
E % B E OV DC12 DC24 #Eof EOE OV DC12 DC24
o B i A 2.45 1.22 R B EORm A 0.90 0.45
Wo® oo W 29.3 29.3 MW R W 10.8 10.8
@R OTER
FER) ATV Ty )= ATy ATV TF Ty b
Wk X HD3-[2W (D) - %3] -025A-W Y36 HD3-[25 35 350K] -025A- WY ¢ 3%
AB N A B AB
II IT
aﬂﬂlxnﬁh aE:X:]II@V\ :
PR PR PR
2W-BeA 2S-BcA 2S-BC
AB AB r
i HE OHw | -
PR PR
2W-BdA 2S-BdA 2S-CA
AB AB A
A CHE | N
PR ‘PR . P
2W-BgA 2S-BgA 25-BG
AB A B
1 IT II
i ”E:X]::Dﬁh AE?EII@A
P PR PR PR
3W-BG1A 3W-BN1A 2WD-BcA 25-KcP
AB
AT,
PR
3W-AEB -
104




® S E~HAX

337 (AC)
® HD 3% ~3W =34 3¢ % ~025 A-W YA 3

o HD3¥-2W (D) -3 3% % -025A-W YA % i
BREBR _2-G(PF) 15

w0 ’; ~ A
R
= = £
SIS | @ 0|
L Rl sm_?‘{('):. (EETPSOL bf -l —+ =gl m = = -1 -
W (::L/ -Rr\ : i "& :
}—P N s
n2.1| | 4-JS B240T-1APY
2.5 07 73.5
- 30.2 90 8
10| 405
70 63 70
® HD ¥ -2S-3% X 3% -025A-W YA X
YL /AR 305 . YL /4 FRERTE 199
203 ~ 148
93 %3
! L L L. 4 ]
i - [APD) = | [APD]
H H i i
B (DC)
e HD ¥ -3W-3% ¥ X% -025A-WYD X
o HD ¥ -2W (D) -3 X% -025A-W YD .
%E@@EEQZL
ey ) Ty < Z_
T == >
= -
4-JS B2401-1AP9 5 4-M5
T oy 73.5 :
90 8

® HD ¥ -2S-3% % % -025A-WYD X

VUL /AFEBRTH 349 YL/AFERRTE 221

0 CATTTE:
== g ol W e e e

105



PRESENT MODE

SOLENOID VALVE (HD*-WY*) SIZE 025/ 03

ACautions on Use

FEATURES

HD3 Series (for 25 MPa)
- 1. Compact
. High pressure and large capacity
. Increased rated flow rate

Dust- and water-proof to IEC IP65

2
3
4. Increased permissible back pressure
5
6

Lamp and grounding terminal are standard.
7. Surge Kkiller is standard.

HD1 Series (for 7 MPa)

1. - Directly controllable by a programmable controller since the valve operates
- at low power. - (Refer to the solenoid characteristics).

Please read the Instruction Manual carefully to ensure correct usage.

@ The piping must be arranged so that the R port is always filled with
fluid to make the most of the features of the oil-immersed type

valve.

e When installing a no-spring type valve, install it so as to set the

spool horizontally.

- 'Finish the mounting faces to the same quality as the valve faces

(3.2 umR2).

MODEL DESIGNATION

T U1 10 (MPa)
3. 25 (MPa)
B¢ 35 (MPa)
Mounting bolt (NOTE 2)

@ Using a valve with the R port plugged can cause operation failure.
e For valves with detent, to hold the spool position without supplying

power to the solenoid the back pressure must be 5 MPa or lower
for the HD3 series or 2 MPa or lowgr for the HD1 series.

HDZ(§)-"-*-*B-WY* ()
Max. operating pressure (NOTE 1) ——J

T——Option functions

M12 4-pin connector type (only for HD 1(S)-WYD2 type)
A: Load side -COMMON right side ’
B: Load side -COMMON left side
C: Load side +COMMON right side

No code: Size 025 M5 bolt (standard)
No code: Size:03 M8 bolt (standard)
S: M8 bolt for Size 03:: (option)
Switching function
3W:  Spring center type
2WD: No spring detent type
28;2R Spring offset type

D: Load side +COMMON left side
Quick return function (NOTE 3) (only for HD*-WYR*)
H: Quick return
With built-in diode (only for HD*-WYD2)
S: Load side -COMMON
T: Load side +COMMON
Voltage indication

Spool type

Refer to the SPOOL TYPES table.

Nominal size

025: Conforming to 1ISO4401-03-02-0-94
03:  Conforming to 1S04401-05-04-0-94 (M8 boit)

Design code } R TERMINAL 80X TYPE

C: M12 Y-PIN CONNECTOR TYPE
NOTE 1: A solenoid valve of 35 MPa operating pressure is available only for the 025B series.
NOTE 2: Model with “S” designation is available only for the 03B series.
NOTE 3: The valve with quick return function provides faster response for switching to OFF.

SERIES SELECTION TABLE

D2: 24 VDC

R1: 100 VAC

R2: 200VAC R3://0 V4C R4:220VAC
Wiring method

WY: Cable connection to the side of the terminal box

-

Series P;(\;ver Sm::;e Vcl;lzvge Surge Absorber M12 4-pin Connector Quick Return Cog;?ggwg to
§ HD1(S)-WYD* 0) o CR + Varistor
z HD1(S)-WYD* (A to D) 0 o Diode o 0O
2 |HD1(S)WYD* (S or T) 0 o Diode o
§'- HD1(S)-WYR* O O Rectifier
3 |HD1(S)}WYR*H 0 0O Rectifier 0O
f’% HD3 / HD5(S)-WYD* O CR + Varistor
% ?SD;/T"){%(S)'WYD* e) Diode O (NOTE)
g HD3 / HD5(S)-WYD* O Rectifier
2 | b3/ HDs(S) WYDH 0 Rectifier 0

NOTE:

92

Select the slave unit carefully since the solenoid current value is high.




VALVE SPECIFICATIONS

Size Size 025 Size 03

Series HD1 HD3 - HD5 HD1 HD3
Max. operating pressure (MPa) 10 25 35 10 25
Max. flow (NOTE 1) (L/min) 40 80 80 60 120
:f;rgzi"z;\fobﬁék2‘;’ressure (MPs) 10(2) 16(5) 16(5) 10(2) 16(5)
Switching frequency (CYCLE/s) 2 or lower
Permissible voltage variation range Rated voltage £10% V
Protection structure class IEC529 P65
Operating fluid (recommendation) ISO VG22, 32, 46
Viscosity (mm?/s) 15 to 400
Fluid temperature (°C) 0to 65
Ambient temperature (°C) -10to 50
Tightening torque (N-m) 6to8. 8to9 mg }g Ig j]g
Mass (ka) 3W,2WD: 2.5 28: 1.8, 3W,2WD: 4.8 2S: 3.5

NOTE 1: For details, refer to the operation limit. '
NOTE 2: Values in parentheses are for the detent type.
"SOLENOID SPECIFICATIONS
® HD1 Series
Valve Size Size 025 Size 03
Solenoid model SLH1-025B-D2 SLH1-025B-R1 SLH1-025B-R2 SLH1-03B-D2 SLH1-03B-R1 SLH1-03B-R2
Rated voltage 24VDC 100 VAC 200 VAC 24 VDC 100 VAC 200 VAC
Frequency — 50/60 Hz 50/60 Hz — 50/60 Hz 50/60 Hz
Holding current 02A 0.07 A 0.05A 02A 0.06 A 0.03A
Power consumption 48 W 6.5W 8.1W 4.8 w 5.8W 6.6 W
Voltage variation range +10% V
® HD3/HD5 Series
Valve S.ize Size 025 Size 03
Solenoid model SLH5-025B-D2 SLH5-025B-R1 SLH5-025B-R2 SLH5-03B-D2 SLH5-03B-R1 SLH5-03B-R2
Rated voltage 24VDC 100 VAC 200 VAC 24 VDC 100 VAC - 200 VAC
Frequency - 50/60 Hz 50/60 Hz — 50/60 Hz 50/60 Hz
Holding current 12A 0.35A 0.18A 15A 0.46 A 0.25A
Power consumption 29W 31W 33W 36 W 40w 44 W
Voltage variation range +10% V
SPOOL TYPES
Type Spring Center No Spring Detent Spring Offset
Model HD*-3W-*-*B-WY* HD*-2WD-*-*B-WY* v HD*-28-*-*B-WY*

i I'IA 3 IIAB
3W-BCA a@ X Pi%[[ l&b 2WD-BcA aﬂz]ngﬁ, 28-BeA ‘EX]::@“
3W-BDA agﬁﬁiﬂ@b 28-KcP aﬂﬂ%ﬁ&g}“

Spgol Type PT

AB
3WBGA amb

BT

. AB
3W-AEB (NOTE) a@;@j{@;b
PT

NOTE 1: Spool type 3W-AEB is available only for the HD3 and HDS series.
NOTE 2:- For spool types not shown above, please consult us.

93



EXTERNAL DIMENSIONS

® SIZE 025 SERIES
SPRING CENTERED TYPE

O-RING 4-JIS B2401-1B P9

31

MANUAL OPERATION HOLE

DETENT TYPE POWER PILOT LAMP
@ | \ N @ — 10 %\
gl — HE —+ '8 = N % %
3
127 .25 ]
121.5] 73
30.2 92
125 40.5
82 8. 82 SPRING OFFSET TYPE
CLEARANCE REQUIRED TO REMOVE SOLENOID CLEARANCE REQUIRED TO REMOVE SOLENOID
381 237
244.4 169
5, 937 L 15) /o5 3 ‘ (1(5[\),I
12 4-PIN
4—¢9 (M12 4-PIN 4—49
CONNECTOR) 1 l CONNECTOR)
A I B W] T—1
L5
o
SOLa m = soLb ] B SOLa . i
B il (i = b — I =
- R = - = H i e
— o O] e =0 Ay i=sifs
| 4955 L4955
e SIZE 03 SERIES
‘ i vir
SPRING CEMCE‘e‘E‘D TY?E O-RING 4-JIS B2401-1B P12
DETENT TYFE
/ 'POWER PILOT LAMP MANUAL OPERATION HOLE 30 o ’g
/ ey >3
= % \ ¥z
RS SRR A+
@" YRV - 1 =, PEEA N :
- > g L —| o =
DL L R \i\\/f/@/
{_l akel o A IR o e — ‘ \\:_j&/
SN a
2 2 :&\~
3.2 37
16.7 89
27 ! 1085
37.3 ( ): Indicates the size of HD3S (M6).
50.8
14 54
95 82 95
SPRING DFFSET TYPE
CLEARANCE REQUIRED TO REMOVE SOLENOID CLEARANCE REQUIRED TO REMOVE SOLENOID
272 190.5
(WHEN M12 4-PIN 84 3 (WHEN M12 4-PIN %4 5,
CONNECTOR IS CONNECTOR IS
USED) USED)
- I ll 1 \ —= IT 'l 1
il L ol @il '
1 | ] = o I'Jf
Q a J|| lllL H — S N - a .||I| 'ltlll' L
T Il [Se—— T - l [ — L“'
- (7APBT) =3

99




MOUNTING BOLTS

Mounting bolts are not supplied with valves and should be ordered separately.

Since the mounting bolt seat height of new type valves differs from that of conventional valves, please order the adjusting collars or mounting
bolts for a new type valve when replacing a valve in a circuit where stack valves are used.

For the 03B series with M6 type mounting bolts, please order the mounting bolts for a new type valve.

NeW MoDEL

e

|

Unit: mm

Series X L
025B 8 22

w

03B 10 30

I_U x

025B Series Mounting Bolts for the HY-TEGRA System

OLD MODEL

COLLAR

IFOR REPLACING CONVENTIONAL VALVE

Collar Model
025: HH-00200 (4 bolts)

03:  HH-00271 (4 bolts)

@ Hexagon socket head bolt e Stud bolt
No. of Stack Levels Bolt Type No. of Stack Levels Bolt Type
1 JIS B 1176 M5 x 30 1 —
HKS-NA-5 x 65 HKS8-NC-5 x 71

HKS8-NA-5 x 100

HKS-NC-5 x 106

HKS-NA-5 x 135

HKS-NC-5 x 141

2
3
4
5

HKS-NA-5 x 170

2
3
4
5

HKS-NC-5 x 176

03B Series Mounting Bolts for the HY-TEGRA System

° M6 hexagoh socket head bolt

@ M6 stud bolt

No. of Stack Levels Bolt Type No. of Stack Levels Bolt Type
1 JIS B 1176 M6 x 40 1 —
HKS-NA-6 x 95 HKS-NC-6 x 106

HKS-NA-6 x 150

HKS-NC-6 x 161

HKS-NA-6 x 205

HKS-NC-6 x 216

aldlwWIN

HKS-NA-6 x 260

2
3
4
5

HKS-NC-6 x 271

® M8 hexagon socket head bolt

® M8 stud bolt

No. of Stack Levels Bolt Type No. of Stack Levels Bolt Type
1 JIS B 1176 M8 x 40 1 —
HKS-NA-8 x 95 HKS-NC-8 x 106

HKS-NA-8 x 150

HKS-NC-8 x 161

HKS-NA-8 x 205

HKS-NC-8 x 216

2
3
4
5

HKS-NA-8 x 260

AW |N

HKS-NC-8 x 271

NOTE 1: Use mounting bolts of the strength category class 12.9.

NOTE 2: Stud bolts are supplied with nuts.
NOTE 3: If an M6 type solenoid valve is used for the 03B series, also use an M6 type (H*3HS) HY-TEGRA valve.

COMPATIBILITY WITH STANDARDS

o CE

All types of valves in the catalogs conform to “CE marking” directives.
Directive: 73/23EEC, 93/68/EEC Low Voltage Directive (VDE 0580:200)

e UL

Please consult us.

e CCC

Not compatible as of April of 2004.

101



